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QUESTION: 1 
On which entity is a Cyclic Redundancy Check (CRC) function repformed when using the HP 
StoreOnce Backup System? 
 
A. frame 
B. transferred file 
C. chunk 
D. backup job 
 
Answer(s): C 
 
 
QUESTION: 2 
A regional market leader in direct financial services runs several call center across the United 
States and is opening a number of new call center in the near future. The client uses Windows 
XP on dedicated workstations. The IT infrastructure consists of numerous HP Proliant DL360 
G5 and HP Proliant DL360 G6 servers running VMware ESX or SUSE Linux for the database 
server direct-attached storage and HP Ultrium tape drives. They want to consolidate the 
infrastructure. 
 
You are meeting with the IT director. Which technical benefits should you emphasize in your 
presentation of a new solution? (Select two) 
 
A. faster time-to-market for new services 
B. decreased operational expenditure (OPEX) 
C. decreased rack space and power usage 
D. greater service margin 
E. reduced time-to provision systems 
 
Answer(s): C, E 
 
 
QUESTION: 3 
A company's Leas SAN Architect considers HP 3PAR StoreServ a Tier 2 solution due the 
requirement for node reboot during Inform Operating System upgrades. You present the HP 
3PAR Persistence Port feature to the customer to address their concerns. (Refer to the exhibit.) 
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Which crucial characteristics are true about the HP 3PAR Persistence Port feature? (select two) 
 
A. The host MPIO software must be reset to restarted after a failover scenario to restore the 
correct path balance. 
B. HP 3PAR Persistence Port requires additional failover zone for each node´s guest World 
Wide Name (WWN) 
C. HP 3PAR Persistence Port will maintain connectivity during 3PAR node upgrade or 3PAR 
node failure even with a single path host. 
D. HP 3PAR Persistence Port requires a minimum to two paths per each World Wide Name 
(WWN) with additional 1:1 zones. 
E. On a two node array, the HP 3PAR Persistence Port minimum setup requires each fabric 
switch to be physically connected equally to each node in a node pair 
 
Answer(s): A, C 
 
 
QUESTION: 4 
A customer wants to implement a new backup solution. The environment is predominantly Fibre 
Channel with Windows 2008, Linux hosts, and a number of HPUX hosts attached to a 10 GbE 
network. They have expressed an interest in the HP StoreOnce technology and its integration 
with HP Data Protector. 
 
When designing an HP StoreOnce solution for this environment, what needs to be considered? 
 
A. Catalyst integration is only supported on Windows and HPUX hosts. 
B. Catalyst gateway are used on the HP-UX hosts. 
C. Linux hosts requires Catalyst gateway 
D. Fibre Channel hosts may only use VTL emulation. 
 
Answer(s): A 
 
 
QUESTION: 5 


